[image: ]
[bookmark: _GoBack]
4. площадь фигуры: 



ответ: ед. кв.
image1.emf
8

6

4

2

-2

-4

-6

-10 -5 5 10

gx = -

1

2

 

x+

1

4

fx = 

3

4

 

x

2


image2.wmf
(

)

(

)

(

)

(

)

(

)

(

)

27

8

27

32

4

1

1

1

1

27

1

3

1

9

1

4

1

1

1

1

3

1

3

1

3

1

4

1

1

3

1

4

1

1

3

1

3

3

2

2

4

1

3

1

2

4

1

4

3

4

1

2

1

3

2

3

2

3

2

3

2

3

1

1

3

1

1

2

2

=

÷

ø

ö

ç

è

æ

-

×

-

=

÷

ø

ö

ç

è

æ

+

-

-

+

-

×

-

=

=

ú

ú

û

ù

ê

ê

ë

é

-

+

-

-

-

-

÷

÷

ø

ö

ç

ç

è

æ

÷

ø

ö

ç

è

æ

+

-

÷

ø

ö

ç

è

æ

×

-

=

-

+

-

×

-

=

=

-

÷

÷

ø

ö

ç

ç

è

æ

×

+

-

×

×

-

=

+

-

×

-

=

÷

ø

ö

ç

è

æ

-

+

-

=

ò

ò

-

-

x

x

x

x

x

x

dx

x

x

dx

x

x

S


oleObject1.bin

image3.wmf
27

8

=

S


oleObject2.bin

